SN LT A
HH: LR UES 84 2S2(SYHSHM/5Y - 57)
Sl AR MBS 84 Y WHOIE o7 (et9l: @2
% 5 15|
SH-BH S (BAH) - HRAMY - BLS 01l &k o i SimE=E"

EIDI PN 1,087,975 1,152,660 64,685
= 179,000
= 908,975

AN NES S8 2S(SLHSI/5Y - 5F) 851,677 951,230 99,553
7 179,000
= 672,677

AR AES 84 L WHOIE o7 719,477 847,030 A 127,553
= 179,000
< 540,477

AR RERY el L MES 54 98,621 126,926 A 28,305

101 124l 66,737 82,336 A 15,599

04 JI2HIERER S 66,737 82,336 A 15,599
ORFOIL (22 L§) 66,737

202 01t 6,424 5,530 894

01 20l bl 6,424 5,530 894
OLX MBS 84 o =X 4,424
OZMAEAR BLE YOI 2,000

207 17 2yl 25,460 35,460 10,000

03 Al& e Y| 25,460 35,460 10,000
O2MAY, SXHH, HIZ S 25,460

AR AES SN L B30T N 97,409 113,926 ~16,517

101 @124l 66,737 82,336 £15,599

04 JI2R2ERSE 4 66,737 82,336 £ 15,599
ORFOIL (A 22 E§) 66,737

202 01t 3,672 4,590 ~918

01 2LH o1 bl 3,672 4,590 ~918
OLX BHMM Y 23|z H7 = 3,672

207 &1 bl 27,000 27,000 0

03 Al& e Y| 27,000 27,000 0
ONE, sXM, HIE S 27,000

N8 DER Mo JlsHe 82,406 105,728 ~23,322

101 @124l 61,094 75,938 A 14,844

04JI2R2ERSE 4 61,094 75,938 A 14,844
omFoIL 61,094

202 01t 3,672 4,590 ~918

01 2LHoi bl 3,672 4,590 ~918
ONE DEX MMz A7 =W 3,672

207 &1 bl 17,640 25,200 AT7,560

03 Al& el Y| 17,640 25,200 A7,560
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SHATHTA
HM: AX MNEES €4 BEZ2(s2Hll Y /s - 55)
G 2N MES 4 L MEioIEs A3 (cH A
. . [
SA-EY S () - NEAY - B Ofl &F 0 agﬁ RS2
= 6,285
01 AP 22l Hl 12,569 0 12,569
oOANRES P2¢ 12,569
Fag 6,284
= 6,285
202 04 H] 29,400 0 29,400
=) 14,700
== 14,700
01 2 Yl 29,400 0 29,400
OMEFE L AR2F 29,400
2 14,700
= 14,700
207 ™ I & 88,000 0 88,000
Fag 44,000
= 44,000
03 A& 21| 88,000 0 88,000
OEH & H= 16,000
Fag 8,000
= 8,000
O=2 2 H=MH 12,000
Fag 6,000
= 6,000
OsXM & 204X 20,000
Fag 10,000
== 10,000
OZA S4AAS L ADE 40,000
Fag 20,000
= 20,000
HAF g2 132,200 104,200 28,000
AN L REAE 2L 122,200 104,200 18,000
201 et A H| 122,200 104,200 18,000
01 AP 22l bl 7,200 7,200 0
OFAMNEZIE S EFY L =4 7,200
02 22244l 115,000 97,000 18,000
02222 ¥ HMAl 73,000
O A& ZHl S X bl 10,000
OXEF KX 22l 12,000
OFA L BEEAAE HSH| 20,000
AL AHASZTH GHA - EH Z2AF 10,000 0 10,000
401 A& HI L E0HYI 10,000 0 10,000
01 A& H| 10,000 0 10,000
OAAAENH, EH Z2A, 48 53 10,000
HHSHAH (ZRAPA)(OIEH/IIE) 236,298 201,430 34,868
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S 2R A
MM HMSHAH (LA TA)(IIEH/IIE
CHel: olad 29| (ctel &
% = RE]
SN -FH -4 (3H) - HEMNY - BES Ol &F S8 agﬁ Hus2
olad 29| 211,036 176,508 34,528
2 TAIE R 211,036 176,508 34,528
101 @124 4l 189,780 176,508 13,272
03 22X (IAHL )22 ES 189,780 176,508 13,272
oJlea 128,807
o=z 2,146,780 x5H « 122 128,807
COES=, 60,973
(OFsF=r= 2,146, 780*30%*5% 23| 6,441
O=AlH 140,000 x5 « 122 8,400
O EH 100,000 5% « 122 6,000
OYESIH 2,146,780 x5 x50%*23] 10,734
ONELY 3,360
-Hi 2 Xt 40,0002 x3H 128 1,440
- UE
(60,0002 x1H 122 )+(20,000R x5 » 122 ) 1,920
OANZ2fY
11,4202 «150%*5% x240 Al 2t 20,556
OdxRIsIHEg 91,3602 x5 x 12 5,482
304 HBRY2E 21,256 0 21,256
01 323 8,540 0 8,540
o842 8,540
02 201HABEZ 7,592 0 7,592
O=0AAZES 7,592
04 22X (RIHY)22NIEBEERL2S 5,124 0 5,124
onsgsga=sgz = 5,124
23 25,262 24,922 340
SN29 J|2A 18,182 18,142 40
201 Let2 | 9,342 9,342 0
01 AR 22|t 8,842 8,842 0
ORMEY AtR2elt] 8,842
02 22294 500 500 0
OBRMNE2Y 2229l 500
202 O4Hl 5,320 5,320 0
01 20yl 5,320 5,320 0
ORM2Y 22U 0H 5,320
203 Y2 =XiY| 3,520 3,480 40
02 & LADtAQ R = K] 520 480 40
OF RIS 40,0002 *13Y 520
04 EAN2HARFZTIH| 3,000 3,000 0
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